
37th Petrozavodsk Programming Camp, Summer 2019
Day 6: MIPT Contest, Thursday, August 29, 2019

Problem D. Grid Game
Input file: standard input
Output file: standard output
Time limit: 2 seconds
Memory limit: 512 mebibytes

Consider an infinite two-dimensional grid. A white chip is placed in the cell (0, 0). There are also n black chips,
the i-th of which is initially in the cell (xi, yi). Some chips may occupy the same cells.

Two player play a game, taking turns starting with the first player. On his turn, the first player must move the
white chip from its current cell (x, y) to (x + 1, y) or (x, y + 1). The second player must move each black chip
from its current position (x, y) to (x � 1, y) or (x, y � 1), choosing directions for each chip independently. If at
any moment (after first or second player’s turn) the white chip shares its cell with any black chip, the first player
immediately loses the game. If the first player manages to make 10100 turns without losing, he wins. Determine if
the first player can win regardless of the strategy of the second player.

Input
The first line contains an integer t: the number of test cases.

Each test case starts with a line with a positive integer n denoting the number of black chips. It is followed by n
lines, each containing two integers xi and yi (0  xi, yi  100, xi + yi > 0).

It is guaranteed that the total amount of black chips over all test cases does not exceed 104.

Output
For each test case, print a separate line with a single word: “Yes” if the first player can win, or “No” otherwise.

Example

standard input standard output

3
1
3 3
2
2 0
1 2
4
2 0
2 3
1 6
5 2

No
Yes
Yes
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